
Subject: Re: Stt bug in Rev. 880
Posted by Lia Lavezzi on Thu, 14 Jun 2007 08:19:46 GMT
View Forum Message <> Reply to Message

Hi Ralf,
    as a first solution you could try simply:
map<Int_t, Int_t>::iterator it = (std::_Rb_tree_iterator<std::pair<const int, int> >) 0;
This should work.

I think it' s really an issue of different compilers, because I don' t see this error while compiling.
I will investigate this and fix it on the svn repository.

                              Best regards,
                                         Lia.
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